	
	impresa agricola
	industria tessile
	industria abbigliamento
	sartoria
	boutique
	
	

	prezzo beni intermedi
	
	lana  

1.700 
	tessuto  

2.500 
	tessuto 

2.000 
	vestiti

5.500
	 
	 

	salari
	
	1.000
	1.500
	
	1.000
	
	

	profitti
	 1.200
	1.000
	1.000
	1.000
	2.000
	
	

	interessi
	    300
	   800
	   300
	   400
	   500
	
	

	rendite
	    200
	
	   200
	   400
	
	
	

	
	
	
	
	
	
	
	

	Valore/prezzo dei beni prodotti
	lana  

1.700 
	tessuto  4.500
	vestiti  

5.500
	vestiti  

3.800 
	vestiti

9.000
	 
	 

	
	
	
	
	
	
	
	totale

	Valore aggiunto
	
	
	
	
	
	=
	

	Valore/prezzo beni finali
	
	
	
	
	
	=
	

	Redditi distribuiti
	
	
	
	
	
	=
	

	
	
	
	
	
	
	
	

	PRODOTTO INTERNO
	
	




















